Additional comments on Assignment #5 (11/20/01):


A “state-transition diagram” that depicts the logic of event handling is given below.  Note that only the “normal” flow is shown, which includes event processing for digit, decimal point, operator, and “=” key but doesn’t include other keys.














Note that an error condition causes an error message be displayed, which is typically followed by the “CL” key in order to continue.  The effects of the keys +/-, RC, BP, and CL, are described in the assignment; the event handling for these keys are not shown is the above diagram (to simplify the diagram).

Some input sequences for testing your calculator program, and the expected outcomes, are given below (Note number 3 is corrected from the hardcopy in class):


Input Sequence
     Outcome



20 + 5 =

   display 25


20 * 10.25 =

   display 205.0


10 – 5 *

   display *  (corrected from the hardcopy in class)


10 – 5 * 2.2 =

   display 11


10 +/– * 5 =

   display –50


10.5.3 + 5 =

   display error message (extra decimal points)


10 + 5 * RC

   display 15


10 + 5 * RC =

   display 225 (i.e., 15 * 15 = 225)


10.5.25 + CL 10 / 2.0 =   display 5.0 (i.e., 10 / 2.0 = 5.0)


100.5 / 0.0 +

   display error message (divide by zero)
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(causes the stored operation be performed,  replacing the display and numBuffer by results)
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(causes the stored operation be performed, replacing the display and numBuffer by results)








